

matrica

$$-5 \begin{pmatrix} 1 & -1 & 2 \\ 3 & 5 & -2 \\ 4 & 1 & -3 \end{pmatrix} = \begin{pmatrix} -5 & 5 & -10 \\ -15 & -5 & 10 \\ -20 & -5 & 15 \end{pmatrix}$$

$$-5 \begin{vmatrix} 1 & -1 & 2 \\ 3 & 5 & -2 \\ 4 & 1 & -3 \end{vmatrix} = \begin{vmatrix} 1 & -1 & 2 \\ -15 & -5 & 10 \\ -20 & -5 & 15 \end{vmatrix}$$

determinant

$$\begin{vmatrix} 2 & -10 \\ 4 & 6 \end{vmatrix} = 2 \cdot 2 \begin{vmatrix} 1 & -5 \\ 2 & 3 \end{vmatrix}$$

$$\begin{vmatrix} 2 & -10 \\ 4 & 6 \end{vmatrix} = 2 \begin{vmatrix} 1 & -5 \\ 2 & 3 \end{vmatrix}$$

$$\begin{vmatrix} 1 & -1 & 2 \\ 3 & 5 & -2 \\ 4 & 1 & -3 \end{vmatrix} = - \begin{vmatrix} 3 & 5 & -2 \\ 4 & 1 & -3 \end{vmatrix}$$

1) $A = \begin{pmatrix} 1 & 3 \\ -1 & 2 \end{pmatrix}$ $B = \begin{pmatrix} 3 & 3 \\ 2 & -4 \end{pmatrix}$

$$(A-B) \cdot 2B = \begin{pmatrix} -2 & 0 \\ -3 & 6 \end{pmatrix} \cdot \begin{pmatrix} 6 & 6 \\ 4 & -8 \end{pmatrix} = \begin{pmatrix} -12 & -12 \\ 6 & -66 \end{pmatrix}$$

$$2B(A-B) \neq (A-B) \cdot 2B$$

2)

$$\begin{vmatrix} 1 & 1 & 1 & -2 \\ 0 & 2 & 1 & 0 \\ 1 & 3 & -2 & 1 \\ 2 & 1 & 1 & 1 \end{vmatrix} \begin{matrix} +2R_3 \\ -R_3 \end{matrix} = \begin{vmatrix} 3 & 7 & -3 & 0 \\ 0 & 2 & 1 & 0 \\ 1 & 3 & -2 & 1 \\ 1 & -2 & 3 & 0 \end{vmatrix} = 1 \cdot (-1) \begin{vmatrix} 3 & 7 & -3 \\ 0 & 2 & 1 \\ 1 & -2 & 3 \end{vmatrix} =$$

$$= - (18 + 7 - (-6 - 6)) = -37$$

3) Gaussova eliminacni metoda

$$\begin{cases} 2x_1 - x_2 + x_3 - x_4 = 3 \\ 4x_1 - 2x_2 - 2x_3 + 3x_4 = 2 \\ 2x_1 - x_2 + 5x_3 - 6x_4 = 1 \\ 2x_1 - x_2 - 3x_3 + 4x_4 = 5 \end{cases} \sim \begin{pmatrix} 2 & -1 & 1 & -1 & 3 \\ 4 & -2 & -2 & 3 & 2 \\ 2 & -1 & 5 & -6 & 1 \\ 2 & -1 & -3 & 4 & 5 \end{pmatrix} \begin{matrix} -2R_1 \\ -R_1 \\ -R_1 \end{matrix}$$

$$\begin{pmatrix} 2 & -1 & 1 & -1 & 3 \\ 0 & 0 & -4 & 5 & -4 \\ 0 & 0 & 4 & -5 & -2 \\ 0 & 0 & -4 & 5 & 2 \end{pmatrix} \begin{matrix} +R_2 \\ -R_2 \end{matrix} \sim \begin{pmatrix} 2 & -1 & 1 & -1 & 3 \\ 0 & 0 & -4 & 5 & -4 \\ 0 & 0 & 0 & 0 & -6 \\ 0 & 0 & 0 & 0 & 6 \end{pmatrix} \begin{matrix} +R_3 \\ +R_4 \end{matrix}$$

$h(A) = 2$ $h(A') = 3$ $0 = -6$ nepunost
 $h(A) \neq h(A') \Rightarrow$ nelishty reseni

4) Cramerovo pravidlo

$$\begin{cases} x_1 - 2x_2 + 3x_3 = 4 \\ 2x_1 - 2x_2 + x_3 = 0 \\ x_1 + 3x_2 - x_3 = 1 \end{cases} \begin{matrix} x_1 & x_2 & x_3 & PS \\ \begin{pmatrix} 1 & -2 & 3 & 4 \\ 2 & -2 & 1 & 0 \\ 1 & 3 & -1 & 1 \end{pmatrix} \end{matrix}$$

$$D = \begin{vmatrix} 1 & -2 & 3 \\ 2 & -2 & 1 \\ 1 & 3 & -1 \end{vmatrix} = (2 + 18 - 2) - (-6 + 3 + 4) = 17 \quad D \neq 0$$

$$D_1 = \begin{vmatrix} 4 & -2 & 3 \\ 0 & -2 & 1 \\ 1 & 3 & -1 \end{vmatrix} = (8 - 2) - (-6 + 12) = 0$$

$$D_2 = \begin{vmatrix} 1 & 4 & 3 \\ 2 & 0 & 1 \\ 1 & 1 & -1 \end{vmatrix} = (6 + 4) - (-1 - 8) = 17$$

$$D_3 = \begin{vmatrix} 1 & -2 & 4 \\ 2 & -2 & 0 \\ 1 & 3 & 1 \end{vmatrix} = (-2 + 24) - (-8 - 4) = 34$$

$$\vec{x} = (x_1, x_2, x_3)^T = \begin{pmatrix} 0 \\ 1 \\ 2 \end{pmatrix}$$

$$\begin{pmatrix} 1 & -2 & 3 \\ 2 & -2 & 1 \\ 1 & 3 & -1 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} 4 \\ 0 \\ 1 \end{pmatrix}$$

$A \cdot \vec{x} = \vec{b}$

5) $f(x) = \frac{x^2}{x-2}$

- def. obor: $x-2 \neq 0 \Rightarrow x \neq 2$
 $D(f) = \mathbb{R} - \{2\}$ \Rightarrow meji puvne ani nepuvne
 - pruvost, upuvnost
 - \cap, \cup (monotonost)
 - lokalne extrima

$$f'(x) = \frac{2x(x-2) - x^2 \cdot 1}{(x-2)^2} = \frac{2x^2 - 4x - x^2}{(x-2)^2} = \frac{x^2 - 4x}{(x-2)^2}$$

$$f'(x) = 0 \Leftrightarrow x^2 - 4x = 0 \Rightarrow x(x-4) = 0 \Rightarrow x = 0 \vee x = 4$$

\vee alebo
 \wedge a parovne

$f(x)$ $\begin{matrix} + & - & + \\ \uparrow & \downarrow & \uparrow \\ 0 & 2 & 4 \end{matrix}$

$x=0$ je l. MAX
 $x=4$ je l. MIN

na $(-\infty, 0)$, $(4, \infty)$ je rastuca
 na $(0, 2)$, $(2, 4)$ je klesajuca

6) $f(x) = \frac{x^2 + 4}{2x}$

- def. obor: $2x \neq 0 \Rightarrow x \neq 0$
 $D(f) = \mathbb{R} - \{0\}$
 - pruvost, upuvnost $\forall x \in D(f) \exists (-x) \in D(f) : f(-x) = \frac{(-x)^2 + 4}{2(-x)} = -\frac{x^2 + 4}{2x} = -f(x)$
 - \cap, \cup
 - symetričnosť

$$f'(x) = \frac{2x \cdot 2x - (x^2 + 4) \cdot 2}{2x^2} = \frac{2x^2 - x^2 - 4}{2x^2} = \frac{x^2 - 4}{2x^2}$$

$$f''(x) = \frac{2x \cdot 2x^2 - (x^2 - 4) \cdot 4x}{4x^4} = \frac{2x^3 - 4x^3 + 16x}{4x^4} = \frac{-2x^3 + 16x}{4x^4} = \frac{-x^2 + 8}{2x^3}$$

$$f''(x) \neq 0$$

na $(-\infty, 0)$ je konkavna
 na $(0, \infty)$ je konvexna

$f''(x)$ $\begin{matrix} - & + \\ \downarrow & \uparrow \\ 0 & 0 \end{matrix}$

IB, nelishty

